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Question. 1 

You want to maintain a cost component structure. What can you determine for each cost 

component? Note: There are 3 correct answers to this question. 

A. Relevance of cost component to results analysis 

B. Assignment of cost component to calculation base for overheads in costing sheet 

C. Relevance of cost component to inventory valuation 

D. Assignment of cost component to cost component group 

E. Relevance of cost component to goods manufactured 

Answers B C E 

 

Question. 2 

Which setting in the cost center master data do you use to assign the same attributes to 

similar cost centers? 

A. Cost center type 

B. Standard hierarchy node 

C. Cost center category 

D. Object class 

Answers B C 

 

Question. 3 

In a standard system delivery, how many free characteristics can be added to an operating 

concern? 

A. 101–150 

B. 0–70 

C. Over 150 

D. 71–100 

Answers B 

 

 



 

Question. 4 

What are some of the characteristics of SAP Core Data Services (CDS) views? Note: There 

are 3 correct answers to this question. 

A. CDS views have ready-to-use content. 

B. CDS views have no latency. 

C. CDS views duplicate data for reporting efficiencies. 

D. CDS views are considered system modifications. 

E. CDS views support authorizations. 

Answers A B E 

Question. 5 

You have activated budget availability control against the overall value for an internal 

order and entered an overall budget of 10000. Actuals of 10000 were posted in the 

previous year. You are surprised to realize that a purchase order of 1000 was created 

for this internal order in the current year. How is that possible? Note: There are 2 correct 

answers to this question. 

A. The purchase order was entered in a different year than the budget. 

B. The difference of 1000 is within the tolerance limits defined in the configuration. 

C. The cost element is exempted from budget availability control. 

D. The purchase order has NOT generated a budget document yet. 

Answers A C 

 


